
MATHS

BOOKS - NAND LAL PUBLICATION

ALGEBRAIC EXPRESSIONS AND IDENTITIES

Example

Try These

1. Subtract  from 

Watch Video Solution

5ab − 7a − 4b 9ab − 8a + 5b

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_2IdlABX1hdbR


1. Find the value of the expression  for the given values

of y i.e., 

Watch Video Solution

2y − 5,

y = 2, 5 − 3, 0, ,
5

2

−7

3

2. Give five examples of expressions containing one variable

and five examples of expression containing two variables.

Watch Video Solution

3. Show on the number line 

Watch Video Solution

x, x − 4, 2x + 1, 3x − 2.

https://dl.doubtnut.com/l/_4sDtDbBcFkJt
https://dl.doubtnut.com/l/_KPEoYVG7Hm4u
https://dl.doubtnut.com/l/_GyV6dMDeebSd


4. Classify the following polynomials as monomials, binomials,

trinomials 

Watch Video Solution

−x + 5, x + y + z, y + z + 100, ab − ac, 117

5. Construct:

3 binomials with only x as a varialble.

Watch Video Solution

6. Construct:

3 binomials with x and y as variables.

Watch Video Solution

https://dl.doubtnut.com/l/_yzImZwVIt9sY
https://dl.doubtnut.com/l/_TtkofgfyD0pd
https://dl.doubtnut.com/l/_1qGWC0H3Ya54


7. Construct:

3 monomials with x and y as variables.

Watch Video Solution

8. Construct:

2 polynomials with 4 or more terms.

Watch Video Solution

9. Write two terms which are like 

7xy

Watch Video Solution

https://dl.doubtnut.com/l/_NBUio90KUv74
https://dl.doubtnut.com/l/_LtTK3kvcvMkS
https://dl.doubtnut.com/l/_yL7usdYEFMVW


10. Write two terms which are like 

Watch Video Solution

4mn2

11. Write two terms which are like : 

2l.

Watch Video Solution

12. Can you think of two more such situations., where we may

need to multiply algebraic compressions ?

Watch Video Solution

https://dl.doubtnut.com/l/_302INdrsAnVc
https://dl.doubtnut.com/l/_k784dEzHInyH
https://dl.doubtnut.com/l/_LEdi91hn7jLc


13. Find  


First find  and multiple it by 7z 


or first find  and multiply it by 4x 


Is the result the same ? What do oyu observe ? 

Does the order in which you carry out the multiplication

matter ?

Watch Video Solution

4x × 5y × 7z

4x × 5y

5y × 7z

14. Obtain the product of 

Watch Video Solution

2x(3x + 5xy)

https://dl.doubtnut.com/l/_qjpZPeiw4uvT
https://dl.doubtnut.com/l/_6A1hiFzIDpKf


15. Obtain the product of 

Watch Video Solution

a2(2ab − 5c)

16. Find the product:

Watch Video Solution

(4p2 + 5p + 7) × 3p.

17. Verify identify(IV) for a =2,b=3,x=5.

Watch Video Solution

https://dl.doubtnut.com/l/_bxQcwZVBQSGT
https://dl.doubtnut.com/l/_HzlC6gntwEVt
https://dl.doubtnut.com/l/_il5yfvCYhP5C


18. Consider,the special case of identity (iv) with a=b,what do

you get?Is it related to Identity(i)?

Watch Video Solution

19. Consider,the special case of identity (iv) with a=-c and b = -

c.What do you get ?Is it related to Identity(ii)?

Watch Video Solution

20. Consider the special case of identity(iv) with b=-a.What do

you get ?Is it related to identity(iii)?

Watch Video Solution

https://dl.doubtnut.com/l/_9CKrBh4U6fMh
https://dl.doubtnut.com/l/_xKNgPtUvPdfh
https://dl.doubtnut.com/l/_v32eJVFUm8qV


Exercise 9 1

1. Identify the terms, their coefficients for each of the

expression. 

Watch Video Solution

5xyz2 − 3zy.

2. Identify the terms, their coefficients for each of the following

expressions: 

Watch Video Solution

1 + x + x2

3. Identify the terms, their coefficients for each of the following

expressions: 4x2y2– 4x2y2z2 + z2

https://dl.doubtnut.com/l/_ZRBdMNsbetzl
https://dl.doubtnut.com/l/_FdfbjgrguMYk
https://dl.doubtnut.com/l/_XG8t5KpjRYdm


Watch Video Solution

4. Identify the terms, their coefficients for each of the following

expressions: 3 – pq + qr – rp

Watch Video Solution

5. Identify the terms, their coefficients for each of the following

expressions: 

Watch Video Solution

+ − xy
x

2

y

2

6. Identify the terms, their coefficients for each of the following

expressions: 0.3a – 0.6ab + 0.5b

Watch Video Solution

https://dl.doubtnut.com/l/_XG8t5KpjRYdm
https://dl.doubtnut.com/l/_RWBTU9kmbTFJ
https://dl.doubtnut.com/l/_HiMlvDWFeHPW
https://dl.doubtnut.com/l/_6fKRrL6COyrJ


7. Add the following: ab – bc, bc – ca, ca – ab

Watch Video Solution

8. Add the following: a – b + ab, b – c + bc, c – a + ac

Watch Video Solution

9. Classify the polynomials as monomlals, binomials, trinomials.

Whish polynomials do not fit in any these three categories ? 

Add the 

Watch Video Solution

2p2q2 − 3pq + 4, 5 + 7pq − 3p2q2

https://dl.doubtnut.com/l/_6fKRrL6COyrJ
https://dl.doubtnut.com/l/_kN11cfpF4NeX
https://dl.doubtnut.com/l/_sYw3k8jhGPpw
https://dl.doubtnut.com/l/_ecLuFivVewk9
https://dl.doubtnut.com/l/_TzDI79A9Iw4t


10. Classify the polynomials as monomlals, binomials,

trinomials. Whish polynomials do not fit in any these three

categories ? 

Add the 

Watch Video Solution

l2 + m2, n2, n2 + l2, 2lm + 2mn + 2nl

11. Subtract 4a – 7ab + 3b + 12 from 12a – 9ab + 5b – 3

Watch Video Solution

12. Subtact  from  


solving using column method, we have.

Watch Video Solution

3xy + 5yz − 7x 5xy − 2yz − 2zx + 10xyz

https://dl.doubtnut.com/l/_TzDI79A9Iw4t
https://dl.doubtnut.com/l/_uzZM6dmDJhni
https://dl.doubtnut.com/l/_vJXLSAmFKJWk


Exercise 9 2

13. Subtract  from 

Watch Video Solution

4p2q– 3pq + 5pq2– 8p + 7q– 10

18– 3p– 11q + 5pq– 2pq2 + 5p2q

1. Find the product of the following pairs of monomials: 4, 7p

Watch Video Solution

2. Find the product of the following pairs of monomials.

4,3p

Watch Video Solution

https://dl.doubtnut.com/l/_vJXLSAmFKJWk
https://dl.doubtnut.com/l/_pWyPiaTXof6c
https://dl.doubtnut.com/l/_zzhDCOR1UoRB
https://dl.doubtnut.com/l/_HLmzoGgDp8DT


3. Find the product of the following pairs of monomials: – 4p,

7pq

Watch Video Solution

4. Find the product of the following pairs of monomials: , –

3p

Watch Video Solution

4p3

5. Find the product of the following pairs of monomials: 4p, 0

Watch Video Solution

https://dl.doubtnut.com/l/_HLmzoGgDp8DT
https://dl.doubtnut.com/l/_CXvDeelEWqh7
https://dl.doubtnut.com/l/_4h7kkhNiVaLS
https://dl.doubtnut.com/l/_S1c3nXP62Pv1


6. Find the areas of rectangles with the following pairs of

monomials as their lengths and breadths espectively.

Watch Video Solution

(p, q), (10m, 5n), (20x2, 5y2), (4x, 3x2), (3mn, 4np)

7. Find the areas of rectangles with the following pairs of

monomials as their lengths and breadths espectively.

Watch Video Solution

(p, q), (10m, 5n), (20x2, 5y2), (4x, 3x2), (3mn, 4np)

8. Find the areas of rectangles with the following pairs of

monomials as their lengths and breadths espectively.

(p, q), (10m, 5n), (20x2, 5y2), (4x, 3x2), (3mn, 4np)

https://dl.doubtnut.com/l/_aJiwQMEFpcKa
https://dl.doubtnut.com/l/_d4jFbWSFOvOW
https://dl.doubtnut.com/l/_AqErp26JMghL


Watch Video Solution

9. Find the areas of rectangles with the following pairs of

monomials as their lengths and breadths espectively.

Watch Video Solution

(p, q), (10m, 5n), (20x2, 5y2), (4x, 3x2), (3mn, 4np)

10. Find the areas of rectangles with the following pairs of

monomials as their lengths and breadths espectively.

Watch Video Solution

(p, q), (10m, 5n), (20x2, 5y2), (4x, 3x2), (3mn, 4np)

https://dl.doubtnut.com/l/_AqErp26JMghL
https://dl.doubtnut.com/l/_9KO7fCXBtm9H
https://dl.doubtnut.com/l/_JgNRx3KAaVnv


11. Obtain the volume of rectangular boxes with the following

length, breadth and height respectively: 

Watch Video Solution

5a, 3a2, 7a4

12. Obtain the volume of rectangular boxes with the following

length, breadth and height respectively: 2p, 4q, 8r

Watch Video Solution

13. Obtain the volume of rectangular boxes with the following

length, breadth and height respectively: 

Watch Video Solution

xy, 2x2y, 2xy2

https://dl.doubtnut.com/l/_pq0MTEo9H8ek
https://dl.doubtnut.com/l/_3Ng1NsfAfQ7L
https://dl.doubtnut.com/l/_SsGjCzr7cCE0


14. Obtain the volume of rectangular boxes with the following

length, breadth and height respectively: a, 2b, 3c

Watch Video Solution

15. Obtain the product of : xy, yz, zx

Watch Video Solution

16. Obtain the product of : 

Watch Video Solution

a, – a2, a3

17. Obtain the product of : 

Watch Video Solution

2, 4y, 8y2, 16y3

https://dl.doubtnut.com/l/_UjmmSqrRnWhE
https://dl.doubtnut.com/l/_nZHzAr3DVQC9
https://dl.doubtnut.com/l/_823Mc43Y6fKn
https://dl.doubtnut.com/l/_nfjFK14ERJl7


Exercise 9 3

Watch Video Solution

18. Obtain the product of : a, 2b, 3c, 6abc

Watch Video Solution

19. Obtain the product of : m, – mn, mnp

Watch Video Solution

1. Carry out the multiplication of the expressions in each of the

following pairs : 4p, q + r

Watch Video Solution

https://dl.doubtnut.com/l/_nfjFK14ERJl7
https://dl.doubtnut.com/l/_sqO3msdCW9nX
https://dl.doubtnut.com/l/_latvKSd8RqiT
https://dl.doubtnut.com/l/_FQ7tlli0MtaF


2. Carry out the multiplication of the expressions in each of the

following pairs : ab, a – b

Watch Video Solution

3. Carry out the multiplication of the expressions in each of the

following pairs : 

Watch Video Solution

a + b, 7a2b2

4. Carry out the multiplication of the expressions in each of the

following pairs : 

Watch Video Solution

a2– 9, 4a

https://dl.doubtnut.com/l/_FQ7tlli0MtaF
https://dl.doubtnut.com/l/_yRYHZMZbVHmf
https://dl.doubtnut.com/l/_aeWPxdPutfbe
https://dl.doubtnut.com/l/_TU7HrIPuVyQI
https://dl.doubtnut.com/l/_JLab3VOnzq6c


5. Carry out the multiplication of the expressions in each of the

following pairs : pq + qr + rp, 0

Watch Video Solution

6. Find the product: 

Watch Video Solution

(a2) × (2a22) × (4a26)

7. Find the product: 

Watch Video Solution

( xy) × ( x2y2)
2

3

−9

10

8. Find the product: 

Watch Video Solution

( pq3) × ( p3q)
10

3

6

5

https://dl.doubtnut.com/l/_JLab3VOnzq6c
https://dl.doubtnut.com/l/_mqs6osxNs1GZ
https://dl.doubtnut.com/l/_YCTGif8GsySL
https://dl.doubtnut.com/l/_MXTEkVJEcKs3


9. The product of  is :

Watch Video Solution

x × x2 × x3 × x4

10. Simplify  and find its value for 

 


(i) Put x =3, x = (1)/(2)`

Watch Video Solution

: 3x(4x − 5) + 3

(i)x = 3, (ii)x =
1

2

wehave(ii)Put

11. Siplify  and find its value for (i) 

 


(i) Put a =0, we have 

a(a2 + a + 1) + 5

a = 0, (ii)a = 1, (iii)a = − 1

https://dl.doubtnut.com/l/_MXTEkVJEcKs3
https://dl.doubtnut.com/l/_i1iQFcBK6BGT
https://dl.doubtnut.com/l/_GpZRRFPYtqZH
https://dl.doubtnut.com/l/_njEM3p3DedfT


(ii) Put  we have 


(iii) Put  we have

Watch Video Solution

a = 1,

a = − 1,

12. Add: p ( p – q), q ( q – r) and r ( r – p)

Watch Video Solution

13. Add: 2x (z – x – y) and 2y (z – y – x)

Watch Video Solution

14. Subtract: 3l (l – 4 m + 5 n) from 4l ( 10 n – 3 m + 2 l )

Watch Video Solution

https://dl.doubtnut.com/l/_njEM3p3DedfT
https://dl.doubtnut.com/l/_sI2okBdEN5yS
https://dl.doubtnut.com/l/_L3YtIGRxn7Da
https://dl.doubtnut.com/l/_nP6yOtDMT1sP


Exercise 9 4

15. Subtract: 3a (a + b + c ) – 2 b (a – b + c) from 4c ( – a + b + c

)

Watch Video Solution

1. Multiply the binomials : (2x + 5) and (4x – 3)

Watch Video Solution

2. Multiply the binomials : (y – 8) and (3y – 4)

Watch Video Solution

https://dl.doubtnut.com/l/_nP6yOtDMT1sP
https://dl.doubtnut.com/l/_0AisTTcWQ6Zs
https://dl.doubtnut.com/l/_fO7EUgDSQ8Lf
https://dl.doubtnut.com/l/_z5vGUBA08D6S
https://dl.doubtnut.com/l/_NUnAAeh38FqO


3. Multiply the binomials : (2.5l – 0.5m) and (2.5l + 0.5m)

Watch Video Solution

4. Multiply the binomials : (a + 3b) and (x + 5)

Watch Video Solution

5. Multiply the binomials :  and 

Watch Video Solution

(2pq + 3q2) (3pq– 2q2)

6. Multiply the binomials :  and 

Watch Video Solution

( a2 + 3b2)
3

4
4(a2 + b2)

2

3

https://dl.doubtnut.com/l/_NUnAAeh38FqO
https://dl.doubtnut.com/l/_0wbbSGgFzFLU
https://dl.doubtnut.com/l/_PCZeovqoatZB
https://dl.doubtnut.com/l/_WZd5vlTKTOds


7. Find the product : (5 – 2x) (3 + x)

Watch Video Solution

8. Find the product : (x + 7y) (7x – y)

Watch Video Solution

9. Find the product : 

Watch Video Solution

(a2 + b)(a + b2)

10. Find the product : 

Watch Video Solution

(p2– q2)(2p + q)

https://dl.doubtnut.com/l/_qnD5QVKPbk4Y
https://dl.doubtnut.com/l/_Uij4wZxL2XGw
https://dl.doubtnut.com/l/_BGxkf4uITTI9
https://dl.doubtnut.com/l/_d6bkxCjKVFrd


11. Simplify : 

Watch Video Solution

(x2– 5)(x + 5) + 25

12. Simplify : 

Watch Video Solution

(a2 + 5)(b3 + 3) + 5

13. Simplify : 

Watch Video Solution

(t + s2)(t2– s)

14. Simplify : (a + b) (c – d) + (a – b) (c + d) + 2 (ac + bd)

Watch Video Solution

https://dl.doubtnut.com/l/_PCJSdFZSKi08
https://dl.doubtnut.com/l/_Zmkrb581BYGJ
https://dl.doubtnut.com/l/_9UfnootUyBTt
https://dl.doubtnut.com/l/_puPOef6NSORq


15. Simplify : (x + y)(2x + y) + (x + 2y)(x – y)

Watch Video Solution

16. Simplify 

Watch Video Solution

(x + y)(x2 + xy + y2)

17. Simplify : (1.5x – 4y)(1.5x + 4y + 3) – 4.5x + 12y

Watch Video Solution

18. Simplify : (a + b + c)(a + b – c)

Watch Video Solution

https://dl.doubtnut.com/l/_LGbxPYT6sCoM
https://dl.doubtnut.com/l/_3qrvIWKCeFcA
https://dl.doubtnut.com/l/_HJfPdQncWoRq
https://dl.doubtnut.com/l/_yHgypliSZQAo


Exercise 9 5

Watch Video Solution

1. Use a suitable identity to get each of the following products :

(x + 3) (x + 3)

Watch Video Solution

2. Use a suitable identity to get each of the following products

: (2y + 5) (2y + 5)

Watch Video Solution

3. Use a suitable identity to get each of the following products

: (2a – 7) (2a – 7)

https://dl.doubtnut.com/l/_yHgypliSZQAo
https://dl.doubtnut.com/l/_KGQRpwLV9dkB
https://dl.doubtnut.com/l/_zpmVgw6yU9Nb
https://dl.doubtnut.com/l/_Mzv2AxHiqgtv


Watch Video Solution

4. Use a suitable identity to get each of the following products

: 

Watch Video Solution

(3a − )(3a − )
1

2

1

2

5. Use a suitable identity to get each of the following products

: (1.1m – 0.4) (1.1m + 0.4)

Watch Video Solution

6. Use a suitable identity to get each of the following products

: 

Watch Video Solution

(a2 + b2)(– a2 + b2)

https://dl.doubtnut.com/l/_Mzv2AxHiqgtv
https://dl.doubtnut.com/l/_bQKt6KMC7PV5
https://dl.doubtnut.com/l/_Tco9CDJWNsHQ
https://dl.doubtnut.com/l/_CYtcltSWAnEE


7. Use a suitable identity to get each of the following products :

(6x – 7) (6x + 7)

Watch Video Solution

8. Use a suitable identity to get each of the following products

: (– a + c) (– a + c)

Watch Video Solution

9. Use a suitable identity to get each of the following products

: 

Watch Video Solution

( + )( + )
x

2

3y

4

x

2

3y

4

https://dl.doubtnut.com/l/_CYtcltSWAnEE
https://dl.doubtnut.com/l/_bw3buRVC3ixT
https://dl.doubtnut.com/l/_tLyezE8WrarS
https://dl.doubtnut.com/l/_CpZP1Yb5cNlm


10. Use a suitable identity to get each of the following products

: (7a – 9b) (7a – 9b)

Watch Video Solution

11. Use the identity  to

find the following products: (x + 3) (x + 7)

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

12. Use the identity  to

find the following products: (4x + 5) (4x + 1)

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

https://dl.doubtnut.com/l/_KmdHVnGYFVqy
https://dl.doubtnut.com/l/_E9UEqmxQYN2s
https://dl.doubtnut.com/l/_ylp46NZxBrwB


13. Use the identity  to

find the following products: (4x + 5) (4x – 1)

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

14. Use the identity  to

find the following products: (4x + 5) (4x – 1)

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

15. Use the identity  to

find the following products: (2x + 5y) (2x + 3y)

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

https://dl.doubtnut.com/l/_pFnLSZpDbewq
https://dl.doubtnut.com/l/_FBWRAMZiMk2H
https://dl.doubtnut.com/l/_SlJrGYBsf6Ie


16. Use the identity  to

find the following products: 

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

(2a2 + 9)(2a2 + 5)

17. Use the identity  to

find the following products: (xyz – 4) (xyz – 2)

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

18. Find the following squares by using the identities : 

Watch Video Solution

(b– 7)2

https://dl.doubtnut.com/l/_RQbmvLczv0A6
https://dl.doubtnut.com/l/_Fbx7cNcodQyw
https://dl.doubtnut.com/l/_6t0GJAV4MJCz


19. Find the following squares by using the identities :

Watch Video Solution

(xy + 3z)2

20. Find the following squares by using the identities :

Watch Video Solution

(6x2– 5y)
2

21. Find the following squares by using the identities :

Watch Video Solution

( m + n)
2

2

3

3

2

https://dl.doubtnut.com/l/_DnolZvbclHdi
https://dl.doubtnut.com/l/_FWSagBgHziTp
https://dl.doubtnut.com/l/_xs8llQCm7a2Q


22. Find the squares by using the identities. 

Watch Video Solution

(0.4 − 0.5q)2

23. Find the following squares by using the identities :

Watch Video Solution

(2xy + 5y)2

24. Simplify : 

Watch Video Solution

(a2– b2)
2

25. Simplify : (2x + 5)2– (2x– 5)2

https://dl.doubtnut.com/l/_RI0vAaT7xpLT
https://dl.doubtnut.com/l/_sk2s4oICnkQQ
https://dl.doubtnut.com/l/_jQuN0GdLtYYn
https://dl.doubtnut.com/l/_tUm1mL2gW9Vo


Watch Video Solution

26. Simplify : 

Watch Video Solution

(7m– 8n)2 + (7m + 8n)2

27. Simplify : 

Watch Video Solution

(4m + 5n)2 + (5m + 4n)2

28. Simplify 

Watch Video Solution

(2.5p − 1.5q)2 − (1. 5p − 25q)2

https://dl.doubtnut.com/l/_tUm1mL2gW9Vo
https://dl.doubtnut.com/l/_YGrQvfvGtaxV
https://dl.doubtnut.com/l/_uhkWHZb1QQDu
https://dl.doubtnut.com/l/_827vcwrGMSmW


29. Simplify : 

Watch Video Solution

(ab + bc)2– 2ab2c

30. Simplify : 

Watch Video Solution

(m2– n2m)
2

+ 2m3n2

31. Show that: 

Watch Video Solution

(3x + 7)2– 84x = (3x– 7)2

32. Show that: 

Watch Video Solution

(9p– 5q)2 + 180pq = (9p + 5q)2

https://dl.doubtnut.com/l/_okT5eJ3Zz6Nr
https://dl.doubtnut.com/l/_VhBMt5c0y7C4
https://dl.doubtnut.com/l/_3vpueQAz0CFW
https://dl.doubtnut.com/l/_B9IFQMweSTcU


33. Show that: 

Watch Video Solution

( m − n)
2

+ 2mn = m2 + n24

3

3

4

16

9

9

16

34. Show that: 

Watch Video Solution

(4pq + 3q)
2
– (4pq– 3q)

2
= 48pq2

35. Show that: (a – b) (a + b) + (b – c) (b + c) + (c – a) (c + a) = 0

Watch Video Solution

36. Using identities, evaluate: 

Watch Video Solution

712

https://dl.doubtnut.com/l/_NYnYBCuAxcX4
https://dl.doubtnut.com/l/_aZG7PKCW2OGf
https://dl.doubtnut.com/l/_233cZnGmsGzd
https://dl.doubtnut.com/l/_so3QsM7Qy70b


37. Using identities, evaluate: 

Watch Video Solution

992

38. Using identities, evaluate: 

Watch Video Solution

1022

39. Using identities, evaluate: 

Watch Video Solution

9982

40. Using identities, evaluate: 

Watch Video Solution

5.22

https://dl.doubtnut.com/l/_so3QsM7Qy70b
https://dl.doubtnut.com/l/_zGdNmY9u8Dwx
https://dl.doubtnut.com/l/_EGP4R4173H0p
https://dl.doubtnut.com/l/_VLD14nBGMIpk
https://dl.doubtnut.com/l/_fqMJV9wdqDQR


41. Using identities, evaluate: 

Watch Video Solution

297 × 303

42. Using identities, evaluate: 

Watch Video Solution

78 × 82

43. Using identities, evaluate: 

Watch Video Solution

8.92

44. Using identities, evaluate: 

Watch Video Solution

10.5 × 9.5

https://dl.doubtnut.com/l/_fqMJV9wdqDQR
https://dl.doubtnut.com/l/_G1Ue1e2oZIy0
https://dl.doubtnut.com/l/_xSrbgljp37k9
https://dl.doubtnut.com/l/_djYYs85GPzco
https://dl.doubtnut.com/l/_1fG5QTktQKvo


45. Using , find: 

Watch Video Solution

a2– b2 = (a + b)(a– b) 512– 492

46. Using , find: 

Watch Video Solution

a2– b2 = (a + b)(a– b) (1.02)
2
– (0.98)

2

47. Using , find: 

Watch Video Solution

a2– b2 = (a + b)(a– b) 1532– 1472

48. Using , find: a2– b2 = (a + b)(a– b) 12.12– 7.92

https://dl.doubtnut.com/l/_1fG5QTktQKvo
https://dl.doubtnut.com/l/_EoNj1YbBma2w
https://dl.doubtnut.com/l/_FWK9xDOwOjvd
https://dl.doubtnut.com/l/_lAd61ODK0f3c
https://dl.doubtnut.com/l/_VnMGGxDqfEL8


Watch Video Solution

49. Using , find: 

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

103 × 104

50. Using , find: 

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

5.1 × 5.2

51. Using , find: 

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

103 × 104

https://dl.doubtnut.com/l/_VnMGGxDqfEL8
https://dl.doubtnut.com/l/_lXzuu2PLaS2U
https://dl.doubtnut.com/l/_gpPZJbz32FdI
https://dl.doubtnut.com/l/_BuYnurPo0V2t


Additional Questions For Practice

52. Using , find: 

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

5.1 × 5.2

1. Symbol which can take different values is called a _______

Watch Video Solution

2. Terms have same literal coefficient with same degree are

called _______terms.

Watch Video Solution

https://dl.doubtnut.com/l/_BuYnurPo0V2t
https://dl.doubtnut.com/l/_4eOExCMB8uIP
https://dl.doubtnut.com/l/_MMdqJWmLEgcH
https://dl.doubtnut.com/l/_ufctEK4JTFwx


3. Any factor of a non-constant terms of an algebraic

expression is called the __________ of the remaining factors of

the term.

Watch Video Solution

4. Term of the expression which has no literal factor is called

there _________ terms

Watch Video Solution

5. Value of the expression  at 

 is ____

Watch Video Solution

3a(a2 − b2)

a = − 1 and b = − 1

https://dl.doubtnut.com/l/_ufctEK4JTFwx
https://dl.doubtnut.com/l/_XzwC5UhonMa3
https://dl.doubtnut.com/l/_VUJvZ8uvGSEs
https://dl.doubtnut.com/l/_Zq8dRLlWxlLZ


6. The product of  is ______

Watch Video Solution

3x3y3 × 4x4 × 0

7. Answer the multiple choice question 

The literal coefficient of  is 


a. 


b. 


c. 


d. none

A. 

B. 

C. 

−7x2y

−7

x2y

−x2y

−7

x2y

−x2y

https://dl.doubtnut.com/l/_Zq8dRLlWxlLZ
https://dl.doubtnut.com/l/_cYmhBPmUOSz4
https://dl.doubtnut.com/l/_qGdzXMIbBcla


D. None

Answer:

Watch Video Solution

8. Answer the multiple choice question 

Which of the following algebraic expression is not a

polynomial. 

a. 


b. 


c. 


d. None

A. 

B. 

+ 3x − 7
4x2

2x

3x × + 5
1

x

x2 − 2x + 1

+ 3x − 7
4x2

2x

3x × + 5
1

x

https://dl.doubtnut.com/l/_qGdzXMIbBcla
https://dl.doubtnut.com/l/_IkOg7SH1XTru


C. 

D. None

Answer:

Watch Video Solution

x2 − 2x + 1

9. Answer the multiple choice question 

Which of the following expression is not a monomial. 

a. 


b. 


c.  


d. none

A. 

B. 

3x + y − z

2x × y × z

7x2y2 ÷ 3xy

3x + y − z

2x × y × z

https://dl.doubtnut.com/l/_IkOg7SH1XTru
https://dl.doubtnut.com/l/_xZY0A88J6nW4


C. 

D. None

Answer:

Watch Video Solution

7x2y2 ÷ 3xy

10. Answer the multiple choice question 

Symbol which takes various values in the expression 

a. constant

b. polynomial

c. variable

d. none

A. Constant

B. Polynomial

https://dl.doubtnut.com/l/_xZY0A88J6nW4
https://dl.doubtnut.com/l/_TOHPy3wSPcLR


C. Variable

D. None

Answer:

Watch Video Solution

11. Answer the multiple choice question 

 is a 


a. monomial

b. binomial

c. trinomial 

d. none

A. monomial

B. binomial

x2 − 3x + 1

https://dl.doubtnut.com/l/_TOHPy3wSPcLR
https://dl.doubtnut.com/l/_zKZ2HpKVwDrG


C. trinomial

D. None

Answer:

Watch Video Solution

12. Answer the multiple choice question 

Number of terms in the product of  is

A. 4

B. 5

C. 6

D. None

Answer:

(x − 2)(x2 + 3x + 1)

https://dl.doubtnut.com/l/_zKZ2HpKVwDrG
https://dl.doubtnut.com/l/_PX71gZUDfkI0


Watch Video Solution

13. State whether the following statements are true or false. 

Equation is also an identity.

Watch Video Solution

14. State whether the following statements are true or false. 

Terms are added to form an expression.

Watch Video Solution

15. State whether the following statements are true or false. 

Watch Video Solution

(x − y)(x + y) = x2 + y2

https://dl.doubtnut.com/l/_PX71gZUDfkI0
https://dl.doubtnut.com/l/_sD49WeK6d9uq
https://dl.doubtnut.com/l/_qGVOLaJ34Zdl
https://dl.doubtnut.com/l/_aIIcE12Heee5


16. State whether the following statements are true or false. 

product of two factors with same sign is positive.

Watch Video Solution

17. State whether the following statements are true or false. 

Symbol which has fixed value is called a variable.

Watch Video Solution

18. State whether the following statements are true or false. 

Watch Video Solution

(x + a)(x + b) = x2 + ab + c(a + b)

https://dl.doubtnut.com/l/_aIIcE12Heee5
https://dl.doubtnut.com/l/_kVCtYlP5yeWu
https://dl.doubtnut.com/l/_pDD6UjljuWNK
https://dl.doubtnut.com/l/_69NBdBftm70H


Additional Questions For Practice Short Answer Type Questions

1. Write an expression having 

one term

Watch Video Solution

2. Write an expression having two terms

Watch Video Solution

3. Write an expression having Three terms

Watch Video Solution

https://dl.doubtnut.com/l/_eEaDGELYzWoX
https://dl.doubtnut.com/l/_ZaObNlJ0Jn58
https://dl.doubtnut.com/l/_zghmDkuH5Ppv


4. Write two like terms for each of the which are similar to 

Watch Video Solution

3x2y

5. Write two like terms for each of the which are similar to

Watch Video Solution

a3b2c5

6. Write the numerical coefficient of the temrs of expression

Watch Video Solution

2x2 − 7x + 5

https://dl.doubtnut.com/l/_9HIDxeJVkaMj
https://dl.doubtnut.com/l/_SRMRueQPd88N
https://dl.doubtnut.com/l/_PpaAEJFHzAvi


Additional Questions For Practice Long Answer Type Questions

1. Evaluate 

Watch Video Solution

(4p − q)2 − (4p + q)2 if p = − 1 and q = 2

2. Verify 

Watch Video Solution

(4x + 9)2 − 144x = (4x − 9)2

3. Perimeter of a triangle is  and two and sides of

the triangle are  Find the third

side of the triangle.

Watch Video Solution

6p2 − 5p + 10

p2 + p − 2 and 2p2 − 3p + 5.

https://dl.doubtnut.com/l/_NPP0DlqMpYuU
https://dl.doubtnut.com/l/_vakJO5CyUnw2
https://dl.doubtnut.com/l/_5DCAIp2vlY9Q
https://dl.doubtnut.com/l/_lgskU1A7oGXu


4. Adjacent sides of the rectangle are

 find its area.

Watch Video Solution

2x2 + 10xy + 3y2 and x2 − 2xy + 1,

5. Simplify the 

Watch Video Solution

(x − 1)(x + 1)(x2 + 1)

6. Simplify 

Watch Video Solution

412 − 92

50

https://dl.doubtnut.com/l/_lgskU1A7oGXu
https://dl.doubtnut.com/l/_y9RfOyt8xVf1
https://dl.doubtnut.com/l/_89RnLchI92Yh


Additional Questions For Practice Hots Higher Order Thinking

Skill

Sample Paper For Practice

7. Simplify 

Watch Video Solution

(3x + y)(3x + 2z)
1

2

1. If  find 

Watch Video Solution

x + = 5
1

x
x2 +

1

x2

https://dl.doubtnut.com/l/_aBu4Sk2KZ1PD
https://dl.doubtnut.com/l/_Zkco40jEk4UH


1. Fill in the blank 

if the coefficient of the term is ______ it is usually omitted.

Watch Video Solution

2. Fill in the blank 

Algebraic expression having _____________ terms is called a

binomial.

Watch Video Solution

3. Fill in the blank 

_____________

Watch Video Solution

a(b − x) + b(c − a) + c(a − b) =

https://dl.doubtnut.com/l/_byAoRS5W03QR
https://dl.doubtnut.com/l/_NBTgqZ4i4Qvf
https://dl.doubtnut.com/l/_GJml0U3Im8W4
https://dl.doubtnut.com/l/_p0aI3fr0Psfu


4. Fill in the blank 

_____________ is an equality which is true for all the values of the

variables in the equality.

Watch Video Solution

5. State whether the following statements are true or false . 

Numerical coefficient of  is 

Watch Video Solution

−8xy3 −8

6. State whether the following statements are true or false . 

An equation is true for all the values of variables in it.

Watch Video Solution

https://dl.doubtnut.com/l/_p0aI3fr0Psfu
https://dl.doubtnut.com/l/_1vaNAf66tecf
https://dl.doubtnut.com/l/_EY9LpnRcob9Y
https://dl.doubtnut.com/l/_pAqOs8xreOVS


7. State whether the following statements are true or false . 

Watch Video Solution

(a − b)2 = a2 + b2 − 2ab

8. State whether the following statements are true or false . 

In addition/Subtraction of algebraic expressions, unlike terms

are grouped to find the sum/difference.

Watch Video Solution

9.  can be simplified using the identity. 


a.  


b.  


(5x + 2y)(5x − 2y)

(x + b)2 = a2 + 2ab + b2

(x − b)2 = a2 − 2ab + b2

https://dl.doubtnut.com/l/_pAqOs8xreOVS
https://dl.doubtnut.com/l/_AEDW1BEX1SWi
https://dl.doubtnut.com/l/_BOis3mxrOGvA


c.  


d. none

A. 

B. 

C. 

D. None

Answer: C

Watch Video Solution

(a + b)(a − b) = a2 − b2

(x + b)2 = a2 + 2ab + b2

(x − b)2 = a2 − 2ab + b2

(a + b)(a − b) = a2 − b2

10. The number of like terms in the expression. 

 is

A. 2

−2z2xy + 5xzy2 − xyz2 + 5zx2y − 11xz2y

https://dl.doubtnut.com/l/_BOis3mxrOGvA
https://dl.doubtnut.com/l/_Nyuw5PqGTHMz


B. 1

C. 3

D. None

Answer: A

Watch Video Solution

11. Area of the reactangle whose length is  and breadth 

 is

A. 

B. 

C. 

D. None

3x2y2

2x3y

6x6y3

6x9y2

5x6y3

https://dl.doubtnut.com/l/_Nyuw5PqGTHMz
https://dl.doubtnut.com/l/_a7kfxNHptLrX


Answer: A

Watch Video Solution

12. The middle term of the expression  is

A. 

B. 

C. 

D. None

Answer: C

Watch Video Solution

(2a − 3b)2

4a2

9b2

−12ab

https://dl.doubtnut.com/l/_a7kfxNHptLrX
https://dl.doubtnut.com/l/_GTmg1WbpCUZ2


13. Construct the following polynomials 

A monomial with variable lmn

Watch Video Solution

14. Construct the following polynomials 

A binomial with variable p and q

Watch Video Solution

15. Construct the following polynomials 

A trinomial with variable y

Watch Video Solution

https://dl.doubtnut.com/l/_kD6pE25r0hod
https://dl.doubtnut.com/l/_pUpIpahla649
https://dl.doubtnut.com/l/_DDZX9AiaKf7g


16. Construct the following polynomials 

Polynomial with four terms having a and b as variables

Watch Video Solution

17. Solve the following identities and find the missing terms. 

 _________  ______= ________

Watch Video Solution

582 − 422 = ×

18. Solve the following identities and find the missing terms. 

`(30 + 7) (30 -7) =______

Watch Video Solution

https://dl.doubtnut.com/l/_NtBjMosrZ10V
https://dl.doubtnut.com/l/_crA97md0CidI
https://dl.doubtnut.com/l/_ZV9uqvwHZrJx


19. Solve the following identities and find the missing terms. 

________  ________

Watch Video Solution

(6x − 5y)2 = −2(6x)(5y) + 25y2 =

20. Solve the following identities and find the missing terms. 

 __________

Watch Video Solution

(x + 7)(x + 5) = x2 + x(7 + 5) + =

21. Find two monomials with positive integer coefficients

whose product is the given monomial 

Watch Video Solution

3xyz

https://dl.doubtnut.com/l/_lBUFQOm8k73U
https://dl.doubtnut.com/l/_DV87UX5NcDOg
https://dl.doubtnut.com/l/_KUhnfWVJOAex
https://dl.doubtnut.com/l/_H0x7ydPbP6xr


22. Find two monomials with positive integer coefficients

whose product is the given monomial 

Watch Video Solution

2ab2c

23. Evaluate  Using the identity, if 

Watch Video Solution

196m2 − 56mn + 4n2.

m = 1, n = − 1

24. What should be the value of x, if  for 

Watch Video Solution

3p2 − p − x = 0

p = − 2

https://dl.doubtnut.com/l/_H0x7ydPbP6xr
https://dl.doubtnut.com/l/_FGDufCafySWQ
https://dl.doubtnut.com/l/_8neoqRIqeTjV
https://dl.doubtnut.com/l/_dmxXJyVsBgAv


25. Subtract  from 

Watch Video Solution

8x(x − y) 3x(x + y) − 6y(x − y)

26. Verify

Watch Video Solution

(a + b + c)(a2 + b2 + c2 − ab − bc − ca) = a3 + b2 + c2 − 3abc

27. Add

Watch Video Solution

x2y(y + z) + y2z(y − z) and z2y(y − z) − yz(x2 + y2)

https://dl.doubtnut.com/l/_dmxXJyVsBgAv
https://dl.doubtnut.com/l/_UVoaNJNAsHDe
https://dl.doubtnut.com/l/_GuCYKI2XPSmg

